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2-3   沿岸海域および海陸統合構造調査�

東京大学地震研究所�
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ÛÙÝ÷ù�=ú�  3020 cu.in. / 2000 psi 
Ý÷nA¬8 m 
w¦q�¢¬25 m 

552 q�

ÛÙÝ÷ùg9ú� 1500 cu.in.  / 2000 psi 
Ý÷nA¬6 m 
w¦q�¢¬25 m 

27 q�

íÚïöøå� 6−40 Hz / 20 sec 
12 sweeps (ap) 
w¦q�¢¬150 m (ap) 

100 q�
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SeaRay (25 m¬�¢)�

100 ch 
(2.5 km) 
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MS2000 (50 m¬�¢)�

317 ch 
(15 km)�
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 480 cu.in. / 2000 psi 
Ý÷nA¬6 m 
w¦q�¢¬50 m 
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3020 cu.in.  / 2000 psi 
Ý÷nA¬8 m 
w¦q�¢¬50m 
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¬ßøïõ�¬2 km 
�Kq�¢¬12.5 m 
çó÷ìõN¬156 ch 
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á÷ðô÷Þ� 2 ms�
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T1� 85 km 12 km 

T2� 115 km 6 km 

H1� 135 km 8 km 

H2� 55 km 8 km 

N1� 45 km 4 km 

N2� 35 km 4 km 

I1� 55 km 4 km 

I2� 55 km 4 km 

I3� 55 km 4 km 

I4� 80 km 4 km 
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T1� 85 km 12 km 

T2� 115 km 6 km 

H1� 135 km 8 km 

H2� 55 km 8 km 

N1� 45 km 4 km 

N2� 35 km 4 km 

I1� 55 km 4 km 

I2� 55 km 4 km 

I3� 55 km 4 km 

I4� 80 km 4 km 
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